Cable runway is vital part of cable management of horizontal and backbone cable in IT infrastructure. Lepin offers runway and accessories, which are made of

special profile aluminum with high strength and low weight to minimize deflections with highest quality standards under stringent ISO 9001 Manufacturing and

Quality management system to ensure high quality products.

Standard runway available in 300mm,400mm, 450mm, 500mm and 600mm configuration to handle different volume of cables, Lepin offers complete range of

accessories to fix the runway above the rack or on the rack or below the ceiling and complete management.

ORDERING STEP

1.Select the runway code or profile code

2.Specify the width, rung quantities per piece

3.Specify the mounting way, above rack or on the rack or below the ceiling

4.Specify the span distance etc. rung
spacing

WAVS) | ONE-STOP
WWW.DATACENTER-TECH.COM ;Ior;\'n{e\llt/e:c)h MANUFACTURE




U SERIES
STEEL CABLE RUNWAY

Loading capacity range

300KGS +

@ Cable management in 1 layer, 2 layers,

multiple layers and also vertical cable routing.
@ Loading capacity more than 300kgs per meter.

©® Rung distance can be adjusted on site, normal

span distance range 1.5m to 2m.

@ Knock down in parts is also available for on

site assembling to save cost.

@ Better aesthetics in cable management.

SA/D | ONE-STOP
Topweltich, | MANUFACTURE

i)




U SERIES . |
STEEL GABLE RUNWAY[

E— ’EJ'

o Joint clamp kit 9 Corner clamp kit l 3 6 Horizontal & Vertical Connect kit

o Wall bracket kit 6 L hanging rail bracket kit !}- Ty | 6 Q roof bracket

WA | ONE-STOP WAL | ONE-STOP
;Iorp\v{e\l{e?h MANUFACTURE WWW.DATACENTER-TECH.COM WWW.DATACENTER-TECH.COM ;Iorp\w/e\n{e::h MANUFACTURE




PRODUCT INFORMATION

i Rung
(V\'c'?l:h> %?\;l]r?]t? Rung Spacing Profile Section
(Mm)
300 2500 8 310
2X2 : 400 2500 8 310 .
42X 28 U Series 450 2500 ; o
Steel Cable Runway
—_
600 2500 8 310 42
300 2500 8 310
42% 24 U Seri 400 2500 8 310 N
eries
Steel Cable Runway 450 2500 38 310
600 2500 8 310 42

SNA/D | ONE-STOP
Topwelicch | MANDFACTURE

WWW.DATACENTER-TECH.COM

JOINT CLAMP KIT

ITEM NO: 21110

2 kits for a complete solution

PARTS LIST

NO. PHOTO ITEM NO NAME SIZE (mm) QTY

LL111 Joint clamp 28x35 1

2 LT151 M8 flange bolt M8 8
©

3 | LT351 M8 flange nut M8 8

WAVS) | ONE-STOP
WWW.DATACENTER-TECH.COM ;IOFMh MANUFACTURE




HORIZONTAL & VERTICAL

CONNECT KIT

ITEM NO: 221D0

2 kits for a complete solution

=
o < N
~ S
%
s
]
2
Z S
Z S
S
S
S
S
s
o0
2
=
=
= =
=

PARTS LIST

ITEM NO

LT910
1
LT920
LT930
2 @ LT151
3 % . LT351
=1~

ONE-STOP

NAS 2 MANUFACTURE

#35 L Connect

#50 L Connect

#100 L Connect

M8 Flange bolt

M8 Flange nut

<

S

SIZE (mm)

35x35x25

50 x50 x 30

100 %100 %30

M8

M8

% >
>
2 >
>
S
>
% >
< =J
S Z
Ne s
S
N
NN
< S
@@
>
SO
e QO

=
0 >
=
S >
QQ =
) =
5 >
7 S
2 S >
a I o=
0 7
s 5 > <
= 0
IS =
3 C)
S <
S ~

2 (4pc for #100 L connector )

2 (4pc for #100 L connector )

WWW.DATACENTER-TECH.COM

RAIL BRACKET KIT

ITEM NO: 21110

Length and width customization

PARTS LIST

NO. PHOTO ITEM NO
LZ140

LZ160

1
LZ150
LBUA1
2

LT750

(o
4

N/

LT151
5 @ LT351
mp.

WWW.DATACENTER-TECH.COM

NAME

Connector plate

Connector plate

Connector plate

Rail

Rung

M8 expansion bolt

M8 Flange bolt

M8 Flange nut

SIZE (mm)

125x35x 140

110x38 %100

110x38 %100

31x42

28x35

$8x55

M8

M8

QTY

3
Topwelltech

REMARK

Optional

Length and width
customization

ONE-STOP
MANUFACTURE




Q HANGING
RAIL BRACKET KIT(

ITEM NO: 1D690

Z HANGING
RAIL BRACKET

ITEMNO: 24141

2 kits for a complete solution 2 kits for a complete solution

PARTS LIST

\[o}

0
ag
[e]
3
(]

ITEM NO NAME SIZE (mm) QTY

b

LT620 Q roof bracket $16.5, 132x30x50 LD230 Z rail bracket 110x 77 x 58

2 @ LT151 M8 Flange bolt M8 4 2 @ LT151 M8 Flange bolt M8 4

3 Q!‘Q LT351 M8 Flange nut M8 4 3 @ LT351 M8 Flange nut M8 4
@a @a

4 <$ LT620 Q roof bracket $16.5, 132x30x50 2 4 <$ LT620 Q roof bracket $16.5, 132x30x50 2

5 LT290 M16 threaded rod ¢ 16 2 LT290 M16 threaded rod $16 2
(o (@

6 ) @ LT391 M16 flange nut $16 8 @ LT391 M16 flange nut $16 8

\S¢ =g
7 @:@O LT750 M8 expansion bolt $8x55 4 @:@O LT750 M8 expansion bolt $8x55 4
8 @ LTB13 Cover Optional @ LTB13 Cover Optional

WAVD) | ONE-STOP WAV | ONE-STOP
?orp\v{e\lﬁh MANUFACTURE WWW.DATACENTER-TECH.COM .

WWW.DATACENTER-TECH.COM Torp\w/e\llt/e?h MANUFACTURE




UNIVERSAL FLOOR
MOUNTING KIT

PARTS LIST

NO. PHOTO ITEM NO NAME

1 L T920 Universal floor mounting bracket
2 LT151 M8 Flange bolt

3 LT351 M8 Flange nut

4 LT750 M8 expansion bolt

SNA/D | ONE-STOP
Topwelicch | MANDFACTURE

[
s/0/// &

=

=

SIZE (mm)

M8

M8

$8x55

QTY

WWW.DATACENTER-TECH.COM

45° UP & DOWN
ELBOW KIT

ITEM NO
LZ180
LT151

3 @ LT351

WWW.DATACENTER-TECH.COM

45° up & down elbow

QTY

3
Topwelltech

ONE-STOP
MANUFACTURE




J SERIES
STEEL CABLE RUNWAY

@ Cable management in 1 layer, 2 layers,

multiple layers and also vertical cable routing.

@ Loading capacity more than 200kgs per meter.

® Rung distance can be adjusted on site, normal

span distance range 1.5m to 2m.

@ Knock down in parts is also available for on

site assembling to save cost.

@ Better aesthetics in cable management.

ONE-STOP
MANUFACTURE

181

Topwelltech



Profile Section

40

STRUCTURE
RAIL
RUNG
PRODUCT INFORMATION
i Rung
Width Length !
Name Rung Spacing
(Mm) (Mm) o
300 2500 8 310
400 2500 8 310
J Series
Steel Cable Runway 450 2500 8 310
500 2500 8 310
600 2500 8 310

40

Topwelltech

ONE-STOP
MANUFACTURE

WWW.DATACENTER-TECH.COM

JOINT CLAMP KIT

ITEM NO: 24141

2 kits for a complete solution

PARTS LIST
NO. PHOTO ITEM NO
1 { 8 LL150
2 @ LT151
3 !‘g@! LT351

WWW.DATACENTER-TECH.COM

SIZE (mm)

200 x40 x40

M8

M8

Topwelltech

QTY

ONE-STOP
MANUFACTURE




HORIZONTAL
CONNECT KIT

2 kits for a complete solution

PARTS LIST
NO. PHOTO ITEM NO SIZE (mm) QTY
1 R/_Ef LZ110 49x49x 16 1
e S
2 \“/ LZ190 Horizontal Tee connector 85x85x 10 1
3 @ LT151 M8 1
()
4 @ LT351 M8 1

SNA/D | ONE-STOP
Topwelicch | MANDFACTURE

WWW.DATACENTER-TECH.COM

HORIZONTAL & VERTICAL

CONNECT KIT

ITEM NO: 223A0

2 kits for a complete solution

PARTS LIST

NO. PHOTO ITEM NO
g
0

1 ' L7120

2 @ LT151

(D)
3 !!Q LT351

WWW.DATACENTER-TECH.COM

— =

NAME

Vertical 90° connector

M8 Flange bolt

M8 Flange nut

SIZE (mm)

140x100x3

M8

M8

3
Topwelltech

QTY

ONE-STOP
MANUFACTURE



NO. PHOTO

PARTS LIST

ITEM NO
U
\ B>
“\\' LT920
@ LT151
Q‘!Q LT351
LT750

I

SNA/D | ONE-STOP
Topwelicch | MANDFACTURE

UNIVERSAL FLOOR
MOUNTING KIT

NAME

Universal floor mounting bracket

M8 Flange bolt

M8 Flange nut

M8 expansion bolt

s o
= =

SIZE (mm)

M8

M8

$8x55

==y

WWW.DATACENTER-TECH.COM

WALL MOUNTING BRACKET

ideal for 300mm wide runway

PARTS LIST

NO. PHOTO

ITEM NO

WWW.DATACENTER-TECH.COM

NAME

wall mounting bracket

Hold down hook

M8 Flange bolt

M8 Flange nut

M8 expansion bolt

SIZE (mm)

320~1020(ideal for 300mm wide runway)

41x46x35.5

M8

M8

$8x55

3
Topwelltech

ONE-STOP
MANUFACTURE




